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ERERAERSR (BEE2EEA) B BT
F
TEE 2004 2005 2006 2007
BRI 255,992, 427 | 264, 588, 364 | 313, 881, 635 | 313, 647, 644
=E &N 145, 831, 843 | 149, 344, 315 | 164, 163, 235 | 176, 223, 224
EEEA 110, 160, 584 | 115,244, 049 | 149, 718, 400 | 137, 424, 420
BEROR - AREREDHINE ~ &8&m R & RHE
GREGHRERER (BEEETIRERE A BT
i
TEE 2004 2005 2006 2007
G ENE | 143, 680,218 | 150, 479, 795 | 196, 080,297 | 174, 116, 992
BROE - ARIEREE - & 88BN R ERHE
EHREEHEEAER (EEaREEEEREEE) AL BT
i
EE 2004 2005 2006 2007
RENEE
e REEHRE | 65,531,818 | 85,383,583 | 100, 139,709 | 72,422,102
& 52,979,095 | 47,055,347 | 34,522,485 | 33,836,252
JEWIRARCEESE | 27,204, 589 | 36,396,109 | 29,705,677 | 40,067,319
75 14,171,945 | 16,257,955 | 19,152,214 | 20, 987, 142
HMREEE 13,779, 864 | 12,469,422 | 10,155,925 | 6,986,471
MENEFEGET | 173,667,311 | 197,562,416 | 193, 676,010 | 174,299, 286
ENEE
JE{TIREK 9,687,107 | 11,294,303 | 9,470,595 | 12,485,448
HitREaE 50,951,745 | 20,890, 112 | 33,434,559 | 31,315,362
MEEEGE 60, 638, 852 | 32,184,415 | 42,905,154 | 43,800, 810
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7000 — 6880 =120x 200 = 24,000 85,000 —24,000 = 61,000 GELL{F:354: 24,000)
6880 —6825=55%x200=11,000  85,000—11,000 = 74,000

6825 —6666=159x200=31,800 74,000—31,800 = 42,200 CEL4 {1354 42,800)
6666 —6585=81x200=16,200  85,000—16,200 = 68,800 (B[54 16,200)
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